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1| SKAE#EE/ (MPN/100mL) ASAa KA H aitk
2 | MK ERE (MPN/100mL) ANERH Tk H o
3 | KR4 KB/ (MPN/100mL) A5Gk KA H itk
4 | B¥%E% (CFU/mL) 100 <1 aitk

BB
5 | i/ (mg/L) 0.01 <0.0010 G
6 | &/ (mg/L) 0.005 <0.0001 Hik
7 | # S 7 (mg/L) 0.05 <0.004 HiE
8 | #/ (mg/L) 0.01 <0.0010 Hik
9 | &/ (mgL) 0.001 0.0003 Hik
10 | fifi/ (mg/L) 0.01 <0.0010 G
11 | F48/ (mg/L) 0.05 <0.002 Hi%
12 | HA/ (mg/L) 1.0 0.22 Hi%
13 | mEgEh (AN / (mg/L) 10 0.65 Hi%

MR — Btk 2 e
14 | R RN R A 15 <5 aitk
15 | VEMEE CHUREMERAL) /NTU 1 0.94 Hik
16 | A0k TFR. Fk 7 Hik
17 | AIERT 4 7 7 Hik
18 | pH KT 6.5 /M85 7.99 Hik
19 | #/ (mg/L) 0.2 0.017 G
20 | #k/ (mg/L) 0.3 <0.10 G
21 | i/ (mg/L) 0.1 <0.05 G
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22 | 4/ (mg/L) 1.0 <0.10 &
23 | #/ (mg/L) 1.0 <0.10 =
24 | &/ (mg/L) 250 7.52 s
25 | MR/ (mg/L) 250 30.1 =
26 | WAYERE A/ (mg/L) 1000 246 =
27 | AEREE (LL CaCOsit) / (mg/L) 450 164 s
28 | ¥EEE (CODwn¥%E, BLO2iP) / (mg/L) 3 0.53 &
29 | #RMmE (EHT / (mg/L) 0.002 <0.001 s
30 | BHES 1A bR/ (mg/L) 0.3 <0.01 a

UNGE SR LA

ESLIE Y7
31 | 8/ (mg/L) 0.005 0.0004 Hi%
32 | B/ (mg/L) 0.5 <0.20 Hi

R MR AT — Ak 22 AR bR
33 | @A (BAN) / (mg/L) 0.5 0.07 Ei
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